2. Consider the follewing quote:

1. Which of the states ranked first in the Sustai i i
g rc?leased 8 s ustainable Development Goals India Index,
(A)  Himachal Pradesh (B)  Tamil Nadu

(&) Andhra Pradesh - (D) Kerala

AT T g S AAd Rera ded Jd gawie, 2020-21 & B @1 15y
UEe EA 0§

(A) Ramaswey (B) affreeg

(C)  TRTEer (D) &I

“On ?6“ .lan.uary, _1950, we are going to enter a life of contradictions. In politics, we will have
equality and in social and economic life we will have inequality.”
To whom among the following is this quote attributed?

(A) Mahatma Gandhi (B) Babasaheb Dr. Bhimrao Ambedkar
(C)  Sardar Vallabhbhai Patel (D)  Lal Bahadur Shastri
fefat@a 3&30T I TR &t

«26 TG, 1950 P & IARR 3 ST F YA P I I T TS F TR AH FAAA
Mﬁtmﬂmuﬁaﬁaaﬂwﬁmmwﬁm
St & ¥ Rrae! 28 3301 & A7 R Srar &2
(A)  FETCH I (B) QGGG 3 AU FFSHT -
(€) WYER deoldl #IF TCA (D)  @Td dgiey AE
3. The Electoral College for electing the President.of India includes which of the following?
(i) Elected members of Rajya Sabha
(ii) Elected members of the Legislative Assemblies of the States
(iii) Elected members of the Legislative-Councils of the States
(A) iii only (B) ii only
(©) ii and iii (D) iandii
mﬁ@&:m&smﬁaﬁwmﬁmﬁﬂwamh
@)  TogE & Eded §SE
(i) Tt B e et & AT #eE
iy Tt A Rrarer oftwel & P SeE

(A) ad iii (B)  &had ii
© i Miii D) i
4. The state bird of Himachal Pradesh is : 3
(A) Monal (B) Western Tragopan
(C)  Himalayan Bulbul (D) Great Barbet
AT UE 1 T Tal l
(A)  #ered o (B) T SIS
© Ramadd gagd ®) Iz aRAT
5. Who among the following fixes the date of election of the Deputy Speaker of the Lok Sabha?
(A) The Secretary General ﬁw_'ﬂ%g;hl
(B) The Protem Speaker of the Lok $
(C) The President of India
(D) The Speaker of the Lok Sabha
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(B)
(D) Sainj

W _

n (B) @S

(€) et (D A

. Because of its high clay content, the soil develops wide cracks in dry seaso '- It is poor i
highly moisture-retentive, thus responding well to img&lian. on is 1 il
where this soil is found. Identify the soil type.

(A)  Red Soil (B)  Alluvial »
(C)  Laterite Soil (D)  Black So

mmmm(clay)ﬂmm?ﬁﬂ?ﬁ&m#WﬁWﬂmmw
STl B1 $0# gy B w3 2 & R 1 . YROT Y arell {, 0 WA fvard &
Fove 3rect e &ef 1 T e R e i U v ard e &) v o

UHR P GgaT | ‘

(A) e e b{m Sidie e

(C)  oRse el R \ (D) el AT

The first 5G call in India w. tly tested at?

(A)  IIT Kanpur \ (B) [1S¢ Bangalore

(€) NTMadras N (D) IIT Delhi
R A Ugell 5G BIeLdT &rer & # gfeyor el R arar am

(A) IEFEA® (B)  IEImEvad e
(©) (D)  IEHED Reeh

is imned at building an extra decentralized web that puts users in control of

Web 5.0
Web 4.0

NP AT T X S ITAISAN B 3o Bey 3k

- (B)

A9 5.0,

ke
. What is the architectural style of the f

Pyramidal shaped |
agoda

e edge of the Prashar lake?

gy

el



- e

=1 AR e

o 30 6 Rean @ R B Taae el

(A)  TufdeE & e w (B) @WK
. (©) Y. (D) G & HHR BT

11. The Cripps Mission was sent by the British Government to visit India in the year:
(A) 1946 (B) 1935
(©) 1942 (D) 1939

- Ry wre g frcw fea o ad # s 3 & fore A arar A

(A) 1946 (B) 1935
(C) . 1942 (D) 1939

12. Which provision of law did the Naviej Singh Johar vs Union of India case of the Supreme Court
deal with?
(A) Section 124A of IPC (B) Section 377 of IPC
(©) Section 66A of IT Act (D) Section 497 of IPC
FH PYE BT ATA T SR AT A W AT el & oy Yrarar § Harad ar?
(A) e & amy 1240 - (B)  HTSUYEY Y 9RT 377
©) & FRPTE A arresr (D) HTSUTH H GRT 497

13. Which among the following books was authored by Mahatma Gandhi?
(A) My Truth « (B) Hindu View of Life
(C) Hind Swaraj (D) Discovery ‘of India
Rrafafaa # | Pa o g wercan i grr fRdharg A
(A) HYw=aS (B)  Sitad & g gfgaror
© fewaus (D) (NHRA @

14. The ‘Police Commemoration Day’ is observed'in India on?
(A)  January 15 : (BY  November 26
(©) July 26 (D) October 21
e 3 gfere wafa faw wa e S &2
(A) SFeady 15 (B) AdEX26
©) W 26 (D) Ao 2l

15. In which district is Bandli Wildlife Sanctuary located?
(A) Kangra (B) Sirmaur
(€) Mandi (D) Kullu
derelt gereiia Aoy frw el # a2
(A) TRl B) Rk

© #9. (D) T

16, Which mountain pass provides access between Lahaul and Spiti valleys?

(C)  Inderhar (D) Kunzum
e |7 werdy &3 eter AR FAFY enfet & i O wer HEa £

(A) o (B) Eﬂjﬁ’t
€ FaEr (D) PA
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 For questions 17-19, choose the most appropriate meaning of the following idioms: C
17 Forty winks

_ leodid (B)  Eyesight related issue
‘ ?3 il?h%:'sleep during the day (D)  Long sleeping hours Series
18. Raise some hackles
(B) To annoy _ _
28 ?3 i‘ﬁﬂﬁ happy (D) - Toempathise with others
19. Throw in the towel : ‘
(A) Togiveup (B) To ?5'? g
(C)  Tohave abath (D)  Tofigh
For questions 20-22, choose the most appropriate syn:g_y;,ms of the following words:
20. Shocked W, C
(A)  Pacified (B)  Fascinated
(C)  Impeded. (D)  Appalled
21. Didactic ; .
(A) Enlightening (B) anhtgnmg
(C)  Disgusting - (D)  Sensational
22. Spurious
(A) Honest (B) Spoiled
(©) Counterfeit (D) Genuine .
For questions 23-25, choose the most appropriate antonyms of the following words:
23. Pandemonium
(A) Noisy (B) Confusion
(C) Protest (D) Peace ,
24. Modesty
(A) Grandeur (B) Sobriety
(C) Propriety , (D) Fairness
25. Concise
(A) Brief (B) Lengthy -
(C) Abridged (D)  Laconic
For questions 26-29, fill in the blanks with the most appropriate word;
26. We must not shy taking risks in life. =
O%) epom (B)  with
(C) away from (D) to.
27. Due to her illness, she could not finish the sork time.
(Im ﬁ_ by
o (D) on,
28. The police was directed to his busi :
7, ___ his business dez(ﬂ[:;r)]gs‘ ey
(C) look up ook into
(D)  lookto
o &e}spp::ﬁ t::{ njuries, Neeraj managed to —the gold medal in the tournament.
(D)  putin
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30. Select the option which best expresses the sentence in active/passive voice:
I remember my sister taking me to the museum.
(A) | remember taken 1o the museum by my sister.
~(B) | remember being taken to the museum by my sister.
(C) | remember myself being taken to the museum by my sister.
(D) | remember | was taken to the museum by my sister.

For questions 31-32, select the appropriate option to change the sentence from direct to
and vice versa.
~ 31. lasked my sister if she had returned the mobile phone 1o her friend.
I h'h"‘“"if;ﬂ) | said to my sister, *Have you return the mobile phone to your friend?
e (B) 1 asked my sister, *Did you return the mobile phone to my friend?*
Ng) | said to my sister, *Have you returned the mobile phone to my friend?’
™1 asku;d my sister, ‘Have you returned the mobile phone to your friend?’

-

32. *Where will you be tomorrow’, she said, ‘in case [ have to call you?”’
(A) She enquired about his whereabouts the next day in case she would have to call him.
(B) She asked where he would be the next day in case she had to call him.
. (C) She asked him where he will be the next day in case she had to call him.
(D) She said to him where he would be tomorrow in case she would have 1@ call him.

33. Fore avradt aarar Hfda &

(A) TETEed (B), go

© gy . (D) @R
34. St Faely O AT ST &

() e Y SRy

(C) a-‘a (D) I -
35. o i FTOn

(A) Toarar (B -GN

© fonfsr (i) T

36. wmm*mﬂm
JrdE ® @R

© g o
b o mw(smgmm-w#mamwamw:
e mmammﬁ

o i e, (B) aﬁm?ﬂ
© ¥ g
b ®

A G

1 S (D) T




o W

ﬁ;-mmmﬁwﬁwmmtmmm@m#_mtm
T TR T & v, Rt o ST e s T ¥

(A) &, TACHSAT B | , STCATEHTE

(C)  THGER, AP - (D) &, WTATEHE

44, “TTEX & ATET U THRET T o AR
(A)  &Ta A S * et e
(©) SFAE FRF I (D) O @

45. WW@WWM##WFW T ¥ 6 S-Sl gevae
mmﬁwa@v TR AV AP wad A Maed sw@ ¥

(A) RaEe, (B) . Ty, FEa

(©) ﬁgﬁm ol (D) g, fRuf
46. * HTEBIRA A AT HTAT HETay T H ¥

(A) 39T HI & (B) W S Qe

(€)  wHa Qe (D) FH A WG T
47. R el 3 & et arfee a qaraare @t ¥

A gR S B) A

© wHR (D) amm

48. MW##WHWWWWWE




49. How many times does the digit 6 appear while writing integers from 400 to 9007 s

(A) 201 (B) 150
@ 170 (D)} 200
400 & 900 e quites for@e Ta 31 6 fhcell a0 3T 82
(A) 201 (B) 150
© 170 (D) 200 »

50. A co.mpetitive examination was attended by male and female candidates. Out of the candidates who
apph.ed 60% are female. 18% of the candidates have passed the examination. 22.22% of the
candidates who cleared are male. What percentage of female candidates has not passed the exam?

{A) 76.67% (B) 33.33%

(©)  40% (D)  Cannot be determined
wwwmﬁwmmmmammlmmmmﬁ
60% FTEATT ¥ 18% SFafgart 2 ol sehot & &) sehol A are sesreard # 22.22% Jo9 ©
foperer waRIe Hien seeiaar & ol seof a8 & &2

(A)  76.67% (B)  33.33%

(€©)  40% (D) Torfa F e on ST &

51. Ramesh buys 20kgs of wheat every month for the family. The cost of wheat is increased from
Rs.14 per kg to Rs.16 per kg. If Ramesh does not want 10 increasé\his expenditure on wheat, then
what quantity of wheat should he buy after the price increase?

(A) 12.5 kg (B) 16 kg
((8)) 17.5 kg (D) 16.5kg
e TREaR & T = A8 20 e A wear ¥ AR 1 HAd 14 T03 gfdr el § FeT
16 BT Tt el Y & IS &1 afE Y AL ACITAT Tt 7@ F@re qed & A AT LD
a1, 33 frcrely a3 A wlean arfee? '
(A) 12.5kg (B) 16kg .
(C) 17.5 kg (D) 16.5 kg

52 A train of 150m length travellingat 90 kmph can cross a tunnel of length 250m in...
(A) 12 seconds (B) 15 seconds
(C) 16 seconds (D) | 8 seconds
lsozﬂaﬁﬁéa@wmooﬁﬂﬂwﬁdﬁzﬁmﬁﬁwmgzsmﬂam &g
&1 U Y bl ¢ ...
(A) 128 H B) 15AHSH-
() 16QFEH \ (D) 18WES A

53. What is the length of the longest pole that can be placed in a room 24 m long, 16 m wide and 18 m

high?
(A) 24m (8),
€ 34m (D) aae gt
24 ey 74, 16 FreT A1 AR 18%ﬁmﬂiﬁt@maﬁmﬂmaﬂwzﬁrm§mh
(A) 243X (B) 28I
© H:H D) 2AR
It-i_ g 36:16/2022-Series
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he surface area of two spherical balls is in the ratio 4 : 9. Find the radius of the |
oper ball, if the radius of the smaller ball is 4em. : a
Ry 5cm (B) 7.5cm i
) 6cem (D) 9cm
21 e et @ el aahe 49 % yeura # & ad ity & B
{Mﬂ)mmﬂﬁmﬂﬂatﬁrﬁm4mgl
() SsdEn B) 7.5
© 6w (D) 9@
55. A fish tank is in the shape of cuboid. Shyam who wants to increase the volume of
have more fish, increased the length, width and depth of the tank by 10%, 1
respectively. By what percent has the tank’s volume increased?

(A) 462% (B) 33.1%
(C) S1.8% (D)  62.0%

TF Fad) T Ut %6 AR F 8 Qmmaﬁiﬁmmﬁ?ﬁmifﬁmmﬁaam
e ¥, o A ward, TitsTS R TS # A 10%, 59 3R 20% B e HLA &1 T &

the tank so as to
5%‘) and 20'%

Hraa # Rede ufaed f R g ©?
(A)  46.2% B)  3371% -
©  51.8% (D) (620%

56. James can do a piece of work in 50 days. Peter cando the same piece of work in 40 days. How long
will they take to complete 45% of the work when working together?
(A) 5 days (B) 9 days
a (C) 7 days (D) 10 days _
S o T T 50 Rt 3 T AR Wit 38 FE A 40 A F FLHBA & | T HI P

aﬂ?‘fgusa*u%mwm#ﬁmmmam

| A ska ®) 9fea-
© 7= (D) 1o
57. The Earth’s atmosphere is mainly heated by?
(A)  Shortwave solar radiation (B) Long wave terrestrial radiation
(C) Reflected solar radiation (D) Scattered radiation
g2t a1 argHEe e fEeh g T fesar ST &
(A) g | fafeor (B) o e Ttz
() uafda |l fafenor (D) oy g3 fafentor
58. How are evergreen plants with woody stems having naked seed classified?
(é) Angiosperms (B) Pteridophytes
(C)  Gymnosperms (D) Bryophytes
A7 st ATl SThd! & dlell arel Heraer atut &Y R o asfiep fena Sirar &2
(A) gt B) RNAwECE =
(€) TorweEd (D) . FATEETH
59. Which of the followi ' T
9 (A)l 1 ii;;ﬁj:;){lrlit'::av1ng organelles in not found m( ;r)nmal éellls?
(C)  Endoplasmic reficulum (D) C2:1 :ilrlnbrane
10 JC-16/2022-Series




PO 3t & ater 1 RYTaT 3091 1] TPt 3 7 ren 7

_ (A) FITE'-H’(W‘ (B) . ¥aara 1
(€©)  3=a: veea SAfar (D) @R Breeh

60. The stars twinkle in the night because

(A} They emit light intermittently

(B) The earth’s atmosphere absorbs light intermittently

(g) The star’s a?tmgsphere absorbs light intermittently
(D) The refractive index of air in the atmosphere fluctuates

Ta & aR feafeara € oxifs

(A) & TH-TF ST TH ScHTT P &

(B) Mwmw-mﬁmwwaﬁmﬂﬁﬁmf
(C) @R & ATATANT Th-Teh I THIRN B HIMVA HATE 7~
(D)  agHEUSH F AT & AR # SAR-TLd Lkl T & -

61. Which one of the following is called the King of Chemicals?

(A)  Sodium _chlo.ride (B)  Nitricacid
(C)  Sulphuric acid (D)  Sodium carbonate
Prafafld # ¥ R Trae &1 TS Fe 1 82
(A) WA FANSS (B) . amsfes e
(C) HeFgR® 31T (D), = WIRTHA FEEC -
62. Vinegar is the trade name for -

(A) Formic acid- (B) Phenol
(©) Carbon tetrachloride (D)  Acetic acid
_s & T I TR

% (A) IS 3 - () TRt

C (© e s (D) T I

" 3. Water in plants is transported by
E: (A) Xylem

g (C)  Epidermis

35" et 3 STet &1 TRAE GRS IGIES

(A) IR (B)  FellTH

(B) Phloem
(D) - Cambium

~

st @) R
- ,' ,- , | . - : . i o0 in human beings, the exchange of gases takes place in
. '%ﬁ During tiﬁv;;r;t.;ess of resptranon in S Blehions
Bronc.hi (D) " Fleurs
agwﬂmaﬁrmmm,mﬂm-m Faarg
ufeadtel (B)  fend
: D) TEEE
) . of X in the sequence 40, 20, 20, 30, 60, 150, X?
is the value © B) 450
o i Lot D) 250
11




4
g 40, 20, 20, 30. 60, 150, X 3 X T el FI &7 C
(A) 300 (B) ggg 4
(€) 600 (D) Series
9,
66. Find the next term in the given series 369, 387, B?EI;) 360. ;5-4]‘., P

A 33 _

tC: 363 (D) 376

&) T8 Ao 3 37T GG WA 369, 387, 351, 360, 342, __

(A) 34 <~ (B). 35

(C) 36k (D) 376

67. If in a certain code language ‘FOI}MAL' is written as ‘IRUJXT’, then how will ‘BETTER’ be

written in that language”

(A) EHQWBO (B) EHWOBQ

(C)  EHWQBO. (D) EHWQOB |
a2 v AR e HraT 3 FORMAL' &1 'IRUJXT for@T ST &, o 38 s 3 BETTER' &1 &4
fer@T srwam? ,

(A)  EHQWBO (B) EHWOBQ '

(C)  EHWQBO (D) ~EHWQOB

Information for questions 68-70:

K. L. M. N, O, P and Q are seven students studying in three different colleges X. Y. and Z. There
are three girls among them, one in each of these colleges. Two of them study mechanical
engineering, two study medicine and ene each study biotechnology. pharmacy and electrical
engineering. M studies with only her best friend K who studies pharmacy in college Y. No girl
studies either biotechnology or electrical engineering. O studies mechanical engineering in college
X and his brother P studies elecirical engineering in college Z. None of the two who are studying
medicine are in college Y. N studies biotechnology along with O and Q.

UA 68-70 % forw gaem:

K.L, M. N, O, P30T Q 91d @1 & 3l didd 3ela-3 a9l Piotar X, Y'BWZﬁ'U_ET%C%lEﬁﬁ
i wEfesar &, 3t A e it 3 U 1 3 A &) A ottt # e a £,
2 fafear £ qeré v & 3R veh-Te araaate, T 3R s fcwe STt &
UETs YA &1 M &I IO F IS AT K & WY Uaeht & S F Y & e A oerd
A TN 1 HE M o A A AR A AR SR 78 wad 1 o
aHetst X 3t Ao SoNTRraon e & 3ty S 1 p o 2 3 sAfene Shafn &
T BT A ¥ 2VeA 7 A A 9 it FARreE B Uer v ¥, wraer v # a8 1 08k

w

Q& T N arireaateilal ol HCTT= Hei/ee &) LW edsber Ckax Yee
68. In which of the colleges do three of them study? st X, N
(A) 7 R i
€ X D
(D) None of these \7 B N
37 2 forr hater 4 a1 et ey o5
(AR 7 B)~ Y
(O
(D) ZAH I B A&

e . U



P 5 following pairs of students study medicine?
e B QP -C
(o) D 1

forer 21 9 urib o
2o et |1 var Faferem & 3rcaga it &2 Series
Q‘ L . (B) Q. P
3 ‘%ﬁ g Dy oO.L
S S 3 O, who studies mechanical engineering?
. a‘b (B) M
g - (€) Q
. & - .
: 3 (D)  None of these
O % 3reTar, AFfAme Sonfaafir #ia ued &2
: A L @ M
N RIC) S Q - (D) sARTRSAN
71. I\:useum is related to curator in the same way as Prison is related to 7
(A)  Manager . (B)  Monitor §\\
(Cy  Jailor (D)  Warder
k ~ memﬁwm%mwmw aw?
(A) TEUD (B) :
© I ?‘\\a@a
&
jﬁe B T2 (Lhoose the alternative which closely resem bles the mirror image of the given combination.
i ANSa4a3Q1 2 -
’ = (1) ANZBREOT S %}Sr@EbEHA
il (3) Z2MNAE BROST L wGay rsok eANZ
& (B)2 -
@A v
i @rmaasz&wmwa;mm
=
(2) S rogs2NA
3 aHAsxosr (4) r SOBEANS
(A) | ®)2
E Information for questlons 73-77: £
Dr. Davar, Dr. Natrajan. Dr. Choudhary and Dr. Zia teach five differer t

Five professors Dr. Joshi,
subjects Zoology. Physics, Botany,
and Osmania.

(I)  Dr. Choudhary teache

~ (II) Dr. Natrajan is neither
| Geology nor Hislo¥: .
2 Physws but neither in Bombay Un_ivcrs_ity nor in Osmania %ny,

ry in Deihl leversﬂ:y - . - cnial
' Ak SRS

arat University. WP

in four Universities Delhn Gujarat, Bambsy

Geology and History

« Zoology in Bombay University. A
in Osmania University nor in Delhi Universi’”t_;'_yi'-gnd he neither te:

i5 _ e __



() ﬁ:mmaa‘f'mﬁmﬁmdrmﬁtaﬁtaﬁ

e gard & i A & sfawdl .
(m) d.mmmgmmmmmmqmaﬁmmﬂrm |

(v) & ahhﬂﬁhfauﬂmmﬁsﬁﬂﬂu_zﬁ?l
v) 2 UTANE :;amﬁwfamwﬂl

73. Who teaches Gwloqu

(A)  Dr Natrajan (B) DrZia e
(C)- Dr. Davar _ (D)  Dr. Joshi C . % wg . 7/
@) ST ® #HF - uth Deb-
© IR (D). &t ameft .
. . A
74. Dr. Zia is from which University? J -~ b YM‘P
(A)  Gujarat (B)  Bombay R Y ol
(C) Delhi (D) Osmania jl-c%-‘»\ X Il 3*
=7 T e RRafarea a2 - 3 VAL A
(A) IR (B) diH v
(c) el (D) I
75. Who teaches Botany? .
(A) Dr. Zia (B) Dr. Davar
(C) Dr. Joshi (D) Dr. Natrajan
FAEaTa e Sl uerar 82
(A) 3. ; | (B) Bsm@aw o
(cy sl (D) & AU .
76. Who is from Osmania University?
(A) Dr.Natrajan (B) Dr. Davar
(Cy  Dr. Joshi (D)  Dr.Zia
sEaaa faafaaraa & ata &
(A) Faewsa (B)  afam@y
(c) st | (D) & o
- )
77. Which of the following combinations is W"
(A)  Dr. Zia-Delhi Univcrsi.ty : 2 (B)  Dr.Choudhary-Geology
(C)  Dr.Davar-Bombay University (D)  Dr. Natrajan -Gujarat University
14 SR/ Caie
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pinting to a man, a woman said:
man related to the man?
Mother

aﬁtmgﬂmm

~3:“*
Mlsth
hlchofth
%C
Nmtréhﬁ M

1% (Ay A%BXC
1;. (©) A+D%E%C
i.#"lll“'f‘il‘ﬁ'.ﬁ.#
{#t._ - t‘

A

2t Aty - HReE
¥, STt - T faAfaared Series'

certain langua :
guage MYSTIFY is coded as NZTUIGZ, how is NEMESIS coded in that language?

PGOKUGU

& fafRra s # M_YS_T_LFYmkw;mmzﬂsmﬁaﬂﬁ;—rﬁmm%,a#wmﬂ

. "His mother is the phl)" daugtiter of my mother.” How is the

Sister Grandhother
R Hfem A D! xRt Al

6%@?/-

the father of N and M X N

s N means M is
is the uncle of C?

¢ followmg m
BxC%A

A+F%G T C
Rarm EARMx

erofN M

%Naﬂm&‘{:waﬂ N RTENR TS M

ﬂii!!‘lilii#‘iQﬁﬁ!iﬂtilll#*i‘l‘tii'ili#*!*‘



